
MATH 243 - Assignment 9


Due: Thursday , November 22
PART I (To be done by hand)

Questions from the textbook

p.215: 8.22, 8.25, 8.28 (p.216: 6, 9, 12): 
p.265: 8.50(p.228: 12);  285: 8.59 (p.229: 9): 
p.285: 9.2, 9.4, 9.8 (245: 2, 4, 8). 

PART II (To be done using MINITAB)

Find the 96% confidence interval for the population mean of all bulbs if the sample of 30 bulbs had the following lengths of life:

779    720    784    801    778    799    820    773    857    762

    740    848    739    757    764    809    763    852    779    727

    778    719    734    765    815    868    801    777    797    759

Enter the sample in column 1.
(a) If the population standard deviation is known to be 40 hours

MTB > OneZ C1;

SUBC>   Sigma 40;

SUBC>   Confidence 96.

or
Choose Stat > Basic Statistics > 1-sample Z > : select variable (C1), enter pop. St.dev. (sigma), in > OPTIONS enter confidence level > OK > OK

(b) If the population standard deviation is not known.

MTB > OneT C1;

SUBC>   Confidence 96.

or

Choose Stat > Basic Statistics >1-sample t : select variable (C1), in > OPTIONS enter confidence level > OK > OK

(c) Draw a histogram to check if the sample comes from a normal distribution.

(d) Repeat (a) and (b) for 90% confidence intervals.







